
 

MATH 2050C Lecture 23 Apr 14

Last Problem Set 12 posted due on Apr 22

Last time Uniform Continuity
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Uniform Continuity Thm
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Continuous Extension Thus

If f Ca b SR is uniformly cts on Ca b
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Proof of continuous Extension Thm

It suffices to show that the limits
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Step 1 Find ONE such L

Choose kn At th E Ca b when his large

Note xn a hence is Cauchy

Lemma fans is also Cauchy

ie must be convergent

say lim ferns L

Step 2 e Show that the limit L obtained in

step 1 is unique ie does Not depend on

the choice of the seq Gcn

Suppose Xn't is any other seq in Ca b

SE kn't a Vh GIN lim Xi a

Argument in Step 1

lim f n'D L for some L'c B

We want to show L L



Let E 20 be fixed but arbitrary

By uniform continuity of f
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Picture illustrating the proof
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